| EEM | BAEREEW | txB d SR Ry R c H
100 @ 103.0 2.6x25 W3/8 M8 x 30 25 121
125¢ 128.0 2.6x25 W3/8 M8 % 30 25 131
150 @ 153.0 2.6x25 W3/8 M8 x 30 25 135
‘ 175 ¢ 178.0 2.6x25 W3/8 M8 x 30 25 154
|
} 200 ¢ 203.0 2.6x25 W3/8 M8 x 30 25 171
— — — o)
|
|
|
d(EARIL FEF)
7 —
WAL F Y b
E = —) @ ”
O O =

W\

xB|RE & B;RIASILBINUREU AT
HE SPHC TR E R BN o= M
_ — us s
B=fi
B 10110010140 RN

SHEET

‘ el QR ATV SHL evssn| A3




